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Rapidity distribution

Pz measured with respect lab Pz measured with respect CM
system (pzlab) system (Pz)

b.‘ (- T T T ‘ T T T ‘ T T | T T T T T T T |

b‘i : T T | T T T | T T T | T T T T T : Z : :
S oo PEM-SMM BiBi - ysy\ =9 GeV = S 90L DCM-SMM BiBi - {s.=9 GeV E
“‘2“ t  Rapidity Distribution = % T Rapidi S YONNTE L -
u .y 7] - apidity Distribution _+ = .

~ = sch T = = 80 - - =
. 80 = - . — = - ch - - .
%Lu C {E +' - 7 % 70 :_ =70 - . - _:
~ 70 } - et S E - - K - 2" .—| b 7
P R S - - . = P .

60 — . " ll — 60 . P - - ]

50:_ -.-{ . .-' . _: 50:_ . 'I I.- . _:

- - . 7 - - - :

40 :_ - = * —: 40 ? - - 7:

30— . = 30 . . B

20 :_ qr-lae- - _: 20 :_ -‘-+l4 )f—l*-‘- _:

10 - " ) R - * = 10 } o *-4-44_*44_“4&,.4—*" N {

C t*— chrkhrhebhe b gy '.. = - - aAT kg " m

o T R N .L:Ef"'rﬁ‘;k\ [ -‘-T-""‘h-.‘..x et T 0L s uls lpmiem™ et L e g e e T

O " i 0 > 5 ~6 4 -2 0 2 4 €

y Y

Pure MC results, ~92500 events readed files *.r12



Rapidity distribution - preliminary

results

Pz measured with respect CM system (Pz), require to modify the class
MpdDCMgenerator.cxx to change Pzlab to Pz.
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MCTracks results, ~92500 events readed files mpddst.root



Rapidity distribution - preliminary

results

Pz measured with respect CM system (Pz), require to modify the class
MpdDCMgenerator.cxx to change Pzlab to Pz.
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MCTracks results, readed files mpddst.root




P_ distribution - Comparison between pure MC

and MCTrack
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P_ distribution - Comparison between pure MC

and primary MCTrack
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n distribution - Comparison between pure MC

and MCTrack
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n distribution - Comparison between pure MC

and primary MCTrack
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